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\CCOUNTANCY AND BUSINESS STATISTICS
Second Paper (Direct Taxes)

OBJECTIVE PART-I Maximum marks : ¢
1. () What is meant by cost?

AR 3 o g
(n) What do vou understand by indiret labour?

(ii)

(iv)
(v)

(vi)
(vii)
{viii)

(ix)
(x)

2. ()

(i) Th

s 0 9 FT 1 A0 & 7

Cive formulae for determination of maximym, Stocy
ayel. R

I;ﬁﬁm e T AA F H A S

What is meant by 5emi-van'.able OVefhEad7

srgafadee TUerd A N A § 7

Explain work uncert}ﬁEd-
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What is the essential characteristic of unit Costing

method?
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Give four names of such industries in which Process

costing is suitable.
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What is favourable variance?

Why overtime is necessary? Give any two reasons
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If BEP sales is 60% of current sales and profit is Rs,

4,000 then what is contribution?
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The standard time for a job is 20 hours @ Rs. 10 per
hour. The job was actually finished within 15 hours,
Calculate total remuneration under Halsey Bonus
System, ' ]
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charges (fixed a » Wages Rs. 6,000; overhead

nd variable) Rs. 4,000, The company



produced 5,000 units. The selling price per unit is

Rs. 20 and profit is Rs, 20 000
: - 20,000. Calculate the
of fixed and variable overheads. amount
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(i) If prime cost is Rs. 25,000, work cost is Rs. 40,000
and office overheads are 66?‘/3% of the factory
overheads then what would be the cost of
production?
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(iv) Differentiate the abnormal wastage and abnormal
effectiveness.
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(v) How BEP can be improved?
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DESCRIPTIVE PART-II
Maximum marks : 60
3. “A good system of costing is the technique of
controlling the expenditure and helps bringing
economy in production.” Discuss.
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The following is the account of receipts and issues of
an item of stores for the month of December, 2011 :
Dec. 1, 2011 Received 100 units @ Rs. 6 per unit
Dec. 8, 2011 Received 200 units @ Rs. 7.50 per unit
Dec. 12, 2011 Issued 150 units .
Dec. 15, 2011 Received 100 units @ Rs. 8 per '.}'-1")
Dec. 18, 2011 Waste (as reported by store veriier
10 units

Dec. 22, 2011 Received 200 units @ Rs. 10.40 per unit
Dec. 27, 2011 Issued 250 units

re Stores Ledger Account: o '
(I?)recpgarging waste as overhead; and (ii) inflating the

price of remaining material on account of waste,
\faterials are charged to production department on

the basis of weighted average price. L
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Section-B .

A Municipal Corporation arranges for the removal of

garbage by means of motor vehicles, detail of which is

given as follows :
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No. of Vehicles Capacity
3 5 tonnes 5 &
4 3 tonnes 3 24
5 2 tonnes 2 75
2 4 tonnes 4 74

On an average each vehicle makes 5 trips a day
covering an average distance of 6 kms with a load of
_30% of its capacity. 10% of the vehicles remain unused
in workshop for repair every day.
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Salary of the Superintendent of Vehicle Deptt. 1 8]?356' e loss 20% Procoss loss 30%
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Lubricant ¥&& (Fﬁﬁﬁ:) o D’ 000 The tollowing, data are given : .
Replacement of tyres, tubes efc. 6'000 Sales (20,000 units) Rs. 4,00,000; Variable costs (Rs,
A 9 298 e g ' ! (5 per unit) Rs. 3,00,000; Fixed costs Rs. 60,000,
Garage rent and rates W, f&m@n 9 & Prepare marginal cost statement and calculate the
e - . y 2,500 following :
Gas and electric Chargf?S o 9 foset = L (i) P/V ratio (ii) Sales for 40% P/V ratio
§undry expenses (variable) 15,000 (iiiy BEP in value .
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50% of the Supermtendgr_lt s salary is debited to the ; Ioff Rs. 2'15.6 000.
workshop and these vehicles bear a monthly charges (v) If the selling price is reduced to Rs. 16, the new sales
of Rs. 15,000 for services of the workshop. ' : ;g[lume to off set ths price reduction.
Prepare operating cost sheet for a month of 30 days. (vi) Sales to earn a profit of Rs. 50,000 '
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